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import os
import requests

import numpy as np

def call_mistral_embeddings_api(texts, model="mistral-embed"):

mmn

API AT

Args:
texts (list):

model (str): : ) "mistral-embed").

Returns:
list: None
api_key = os.environ.get ("MISTRAL_API_KEY")
if not api_key:
print(: " MISTRAL_API_KEY.")

return None

url = "https://api.mistral.ai/v1/embeddings"

headers = {


https://docs.mistral.ai/capabilities/embeddings/

"Content-Type": "application/json",
"Accept": "application/json",

"Authorization": f"Bearer {api_keyl}"

}
data = {
"model": model,
"input": texts
}
try:

response = requests.post(url, headers=headers, json=data)

response.raise_for_status()

response_json = response.json()

if response_json and "data" in response_json:
embeddings = [item["embedding"] for item in response_json["data"]]
return embeddings

else:
print(£" API : : }response_json}")
return None

except requests.exceptions.RequestException as e:

print (£" APT : tel™)

if e.response:
print (£" : }e.response.status_codel}")
print(f" : }e.response.text}")

return None

def calculate_similarity(embl, emb2):

mimn

Args:
embl (list):

emb2 (list):

Returns:

float: ) . (

nmn

return np.dot(embl, emb2)

if __name__ == "_main__":



texts = [
" Python.",
"Python ! s
n n
l
#

embeddings = call_mistral_embeddings_api(texts)
if embeddings:

#

print (£" : }len(embeddings [0])}")

sim_12 = calculate_similarity(embeddings[0], embeddings[1])

sim_13 = calculate_similarity(embeddings[0], embeddings[2])
sim_23 = calculate_similarity(embeddings[1], embeddings[2])
#

print(£"\n " (

print (£" :1 "{texts[0]}'™)

print (f" 22 "{texts[11}'")

print (£" :3 "{texts[2]}'")

print (£"\n 1 12 {sim_12:.4f}")

print (£" 1 :3 {sim_13:.4f}")

print (f" 2 :3 {sim_23:.4£f3}")
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export MISTRAL_API_KEY="your_api_key_here"

2. bz elyzle: bzl ssd )l el Jswos WJIoall auslo embedding_example.pyl] wolszls

python embedding_example.py
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1 Python.'

:2 'Python . !
:3 ' . '
1 :2 0.9200
1 :3 0.6500
2 :3 0.6700
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